
ʏʪʦʚʘʞʥʦʟʥʘʪʴ, ʯʪʦʙʳɻʢʩʧʝʨʠʤʝʥʪ

ʧʦʣʫʯʠʣʩʷ?

˕̠̑̉̎́́̑̐̏̃́, ̋ ̙̏ˑ̉́̄̎̏̒̓̉̋́˝̔̒

picture placeholder



LightCycler 96: ʧʦʜʭʦʜʳʠ ʚʦʟʤʦʞʥʦʩʪʠ

LightCycler 96

ʂʘʯʝʩʪʚʝʥʥʳʡ

ʘʥʘʣʠʟ

ɸʙʩʦʣʶʪʥʳʡ

ʢʦʣʠʯʝʩʪʚʝʥʥʳʡ

ʘʥʘʣʠʟ

ʆʪʥʦʩʠʪʝʣʴʥʳʡ

ʢʦʣʠʯʝʩʪʚʝʥʥʳʡ

ʘʥʘʣʠʟ

ɻʝʥʦʪʠʧʠʨʦʚʘʥʠ

ʝʧʦʢʦʥʝʯʥʦʡ

ʪʦʯʢʝ

HRM-ʘʥʘʣʠʟ



ʂʘʯʝʩʪʚʝʥʥʳʡʘʥʘʣʠʟ(ʝʩʪʴ/ʥʝʪ)

ɸʙʩʦʣʶʪʥʳʡʢʦʣʠʯʝʩʪʚʝʥʥʳʡʘʥʘʣʠʟ(ʢʦʣ-ʚʦʢʦʧʠʡ)

ʆʪʥʦʩʠʪʝʣʴʥʳʡʢʦʣʠʯʝʩʪʚʝʥʥʳʡʘʥʘʣʠʟ
(ʘʥʘʣʠʟʵʢʩʧʨʝʩʩʠʠʛʝʥʦʚ, ʘʥʘʣʠʟʤʠʢʨʦʙʥʳʭʩʦʦʙʱʝʩʪʚé)

ɻʝʥʦʪʠʧʠʨʦʚʘʥʠʝ(ʧʦʠʩʢʠʟʚʝʩʪʥʳʭʤʫʪʘʮʠʡ)

ʇʦʠʩʢʥʝʠʟʚʝʩʪʥʳʭʤʫʪʘʮʠʡ(HRM-ʘʥʘʣʠʟ)

ʆʙʣʘʩʪʠʧʨʠʤʝʥʝʥʠʷqPCR
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˗̘̜́̆̒̓̃̆̎̎̊́̎́̌̉̈
«̆ ̝̒̓/̎̆»̓
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ˉ1
ˉ2

? ?

1        2     1+ɺʂ   2+ɺʂ

+ɺʂ
+ɺʂ

Vʂʦʥʪʨʦʣʴʧʦʣʦʞʠʪʝʣʴʥʳʡ

Vʂʦʥʪʨʦʣʴʦʪʨʠʮʘʪʝʣʴʥʳʡ

Vɺʥʫʪʨʝʥʥʠʡʂʦʥʪʨʦʣʴ



ʂʣʶʯʝʚʳʝʦʩʦʙʝʥʥʦʩʪʠ:

Åʉʥʠʞʝʥʠʝʨʠʩʢʘʢʦʥʪʘʤʠʥʘʮʠʠ=>ʧʨʝʜʫʧʨʝʞʜʝʥʠʝʣʦʞʥʳʭ
ʨʝʟʫʣʴʪʘʪʦʚ

Åɺʦʟʤʦʞʥʦʩʪʴʢʦʥʪʨʦʣʷ
ʦʪʩʫʪʩʪʚʠʷʠʥʛʠʙʠʨʦʚʘʥʠʷʚ 
ʦʜʥʦʡʧʨʦʙʠʨʢʝʩ ʤʠʰʝʥʴʶ
(ʤʫʣʴʪʠʧʣʝʢʩ)

Åɺʦʟʤʦʞʥʦʩʪʴʜʝʪʝʢʮʠʠ
ʥʝʩʢʦʣʴʢʠʭʤʠʰʝʥʝʡʚ ʦʜʥʦʡ
ʧʨʦʙʠʨʢʝ

˗̘̜́̆̒̓̃̆̎̎̊́̎́̌̉̈
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ʂʘʯʝʩʪʚʝʥʥʳʡʘʥʘʣʠʟ(ʝʩʪʴ/ʥʝʪ)

ɸʙʩʦʣʶʪʥʳʡʢʦʣʠʯʝʩʪʚʝʥʥʳʡʘʥʘʣʠʟ(ʢʦʣ-ʚʦʢʦʧʠʡ)

ʆʪʥʦʩʠʪʝʣʴʥʳʡʢʦʣʠʯʝʩʪʚʝʥʥʳʡʘʥʘʣʠʟ
(ʘʥʘʣʠʟʵʢʩʧʨʝʩʩʠʠʛʝʥʦʚ, ʘʥʘʣʠʟʤʠʢʨʦʙʥʳʭʩʦʦʙʱʝʩʪʚé)

ɻʝʥʦʪʠʧʠʨʦʚʘʥʠʝ(ʧʦʠʩʢʠʟʚʝʩʪʥʳʭʤʫʪʘʮʠʡ)

ʇʦʠʩʢʥʝʠʟʚʝʩʪʥʳʭʤʫʪʘʮʠʡ(HRM-ʘʥʘʣʠʟ)

ʆʙʣʘʩʪʠʧʨʠʤʝʥʝʥʠʷqPCR
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ɸʙʩʦʣʶʪʥʳʡʢʦʣʠʯʝʩʪʚʝʥʥʳʡʘʥʘʣʠʟ

ʎʝʣïɹʦʧʨʝʜʝʣʠʪʴʠʟʥʘʯʘʣʴʥʦʝʢʦʣʠʯʝʩʪʚʦʢʦʧʠʡʚ ʨʝʘʢʮʠʦʥʥʦʡ

ʩʤʝʩʠ
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ɻʨʘʬʠʢʘʤʧʣʠʬʠʢʘʮʠʠ

8



1. ʮʠʢʣ= 2 ʘʤʧʣʠʢʦʥ

2. ʮʠʢʣ= 4 ʘʤʧʣʠʢʦʥʘ

3. ʮʠʢʣ= 8 ʘʤʧʣʠʢʦʥʦʚ

4. ʮʠʢʣ= 16 ʘʤʧʣʠʢʦʥʦʚ

5. ʮʠʢʣ= 32 ʘʤʧʣʠʢʦʥʘ

6. ʮʠʢʣ= 64 ʘʤʧʣʠʢʦʥʘ

7. ʮʠʢʣ= 128 ʘʤʧʣʠʢʦʥʦʚ

ɺʚʝʜʝʥʠʝ

̗̠́̍̐̌̉̉̋́̉̕
 

 

ʎʠʢʣ 

 

ʂʦʣʠʯʝʩʪʚʦ ʘʤʧʣʠʢʦʥʘ 

 
1 

 
2 

 
2 

 
4 

 
3 

 
8 

 
4 

 
16 

 
5 

 
32 

 
10 

 
1024 

 
20 

 
1,048,576  (1.0 E6) 

 
30 

 
1,073,741,824  (1.0 E9) 

 
37 

 
137, 438, 953, 472  (1.3 E11) 

 
40 

 
1,099,511,627,776  (1.1 E12) 

 

 

N = N0 x 2
n 

N:   ʢʦʣʠʯʝʩʪʚʦʘʤʧʣʠʬʠʮʠʨʦʚʘʥʥʳʭʤʦʣʝʢʫʣ

N0:  ʠʩʭʦʜʥʦʝʢʦʣʠʯʝʩʪʚʦʤʦʣʝʢʫʣ

n:    ʯʠʩʣʦʮʠʢʣʦʚʘʤʧʣʠʬʠʢʘʮʠʠ
Ct
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ʂʦʥʮʝʥʪʨʘʮʠʠʠ ʮʠʢʣʳ

ʎʠʢʣ, ʥʘʢʦʪʦʨʦʤʬʣʫʦʨʝʩʮʝʥʮʠʷ

ʨʝʘʢʮʠʠʚʳʰʝʬʦʥʦʚʦʡ

ʬʣʫʦʨʝʩʮʝʥʮʠʠʥʘʟʳʚʘʝʪʩʷ

ʧʦʨʦʛʦʚʳʤʮʠʢʣʦʤCq
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ʄʝʪʦʜʦʧʨʝʜʝʣʝʥʠʷCq ʚ LightCycler 96
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ʉʪʘʥʜʘʨʪʥʘʷʢʨʠʚʘʷ

ʉʝʨʠʨ̫ʘʟʚʝʜʝʥʠʡʦʙʨʘʟʮʘʩ

ʠʟʚʝʩʪʥʦʡʢʦʥʮʝʥʪʨʘʮʠʝʡ

ʇʨʝʜʩʪʘʚʣʝʥʠʝʨʝʟʫʣʴʪʘʪʦʚʚʚʠʜʝ

ʧʨʷʤʦʡʟʘʚʠʩʠʤʦʩʪʠCq ʦʪʣʦʛʘʨʠʬʤʘ

ʢʦʥʮʝʥʪʨʘʮʠʠ
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ɺʠʜʩrʪʘʥʜʘʨʪʦʚ

ïʆʯʠʱʝʥʥʳʡRT-PCR-ʧʨʦʜʫʢʪ.

ïʈʝʢʦʤʙʠʥʘʥʪʥʘʷɼʅʂ (ʧʣʘʟʤʠʜʘʩ ʮʝʣʝʚʳʤʬʨʘʛʤʝʥʪʦʤ)

ïʂʦʤʤʝʨʯʝʩʢʘʷʛʝʥʦʤʥʘʷɼʅʂ.

ïʉʠʥʪʝʪʠʯʝʩʢʠʡʦʣʠʛʦʥʫʢʣʝʦʪʠʜ, ʩʦʜʝʨʞʘʱʠʡ

ʘʤʧʣʠʬʠʮʠʨʫʝʤʫʶʧʦʩʣʝʜʦʚʘʪʝʣʴʥʦʩʪʴ.



ɺʠʜʩrʪʘʥʜʘʨʪʦʚ: ʜʦʩʪʦʠʥʩʪʚʘʠ 

ʥʝʜʦʩʪʘʪʢʠɺʠʜʩʪʘʥʜʘʨʪʦʚɼʦʩʪʦʠʥʩʪʚʘ ʅʝʜʦʩʪʘʪʢʠ

ʆʯʠʱʝʥʥʳʡRT-PCR-

ʧʨʦʜʫʢʪ

ɼʝʰʝʚʦ

ɹʳʩʪʨʦʪʘʧʨʦʙʦʧʦʜʛʦʪʦʚʢʠ

ʅʝʩʪʘʙʠʣʴʥʦʩʪʴ, ʧʘʜʝʥʠʝʢʦʥʮʝʥʪʨʘʮʠʠʧʨʠ

ʜʣʠʪʝʣʴʥʦʤʭʨʘʥʝʥʠʠ

ʉʣʦʞʥʦʦʧʨʝʜʝʣʠʪʴʪʦʯʥʫʶʢʦʥʮʝʥʪʨʘʮʠʶ

ɺʳʩʦʢʘʷʚʝʨʦʷʪʥʦʩʪʴʢʦʥʪʘʤʠʥʘʮʠʠʚ 

ʧʨʦʮʝʩʩʝʧʨʦʙʦʧʦʜʛʦʪʦʚʢʠ

ʈʝʢʦʤʙʠʥʘʥʪʥʘʷɼʅʂ 

(ʧʣʘʟʤʠʜʘʩ ʮʝʣʝʚʳʤ

ʬʨʘʛʤʝʥʪʦʤ)

ʉʪʘʙʠʣʴʥʦʩʪʴʧʨʠʜʣʠʪʝʣʴʥʦʤʭʨʘʥʝʥʠʠ

ɼʝʰʝʚʦ

ʉʣʦʞʥʦʦʧʨʝʜʝʣʠʪʴʪʦʯʥʫʶʢʦʥʮʝʥʪʨʘʮʠʶ

ʄʥʦʛʦʚʨʝʤʝʥʠʟʘʥʠʤʘʝʪʧʨʦʮʝʩʩ

ʧʨʠʛʦʪʦʚʣʝʥʠʷʩʪʘʥʜʘʨʪʘ

ʂʦʤʤʝʨʯʝʩʢʘʷ

ʛʝʥʦʤʥʘʷɼʅʂ

ʉʪʘʙʠʣʴʥʦʩʪʴʧʨʠʜʣʠʪʝʣʴʥʦʤʭʨʘʥʝʥʠʠ

ʀʟʚʝʩʪʥʘʪʦʯʥʘʷʢʦʥʮʝʥʪʨʘʮʠʷ

ʅʠʟʢʘʷʚʝʨʦʷʪʥʦʩʪʴʢʦʥʪʘʤʠʥʘʮʠʠʜʨʫʛʠʭ

ʦʙʨʘʟʮʦʚʚ ʧʨʦʮʝʩʩʝʧʨʦʙʦʧʦʜʛʦʪʦʚʢʠ

ɼʦʨʦʛʦ

ɼʦʩʪʫʧʥʦʥʝʜʣʚ̫ʩʝʭʦʨʛʘʥʠʟʤʦʚ

ʉʠʥʪʝʪʠʯʝʩʢʠʡ

ʦʣʠʛʦʥʫʢʣʝʦʪʠʜ, 

ʩʦʜʝʨʞʘʱʠʡ

ʘʤʧʣʠʬʠʮʠʨʫʝʤʫʶ

ʧʦʩʣʝʜʦʚʘʪʝʣʴʥʦʩʪʴ

ʀʟʚʝʩʪʥʘʪʦʯʥʘʷʢʦʥʮʝʥʪʨʘʮʠʷ

ʊʦʯʥʘʷʜʣʠʥʘʧʨʦʜʫʢʪʘ

ɺʦʟʤʦʞʥʦʩʪʴʧʦʣʫʯʠʪʴʩʨʘʟʫʙʦʣʴʰʦʝ

ʢʦʣʠʯʝʩʪʚʦʤʘʪʝʨʠʘʣʘ

ʅʝʩʪʘʙʠʣʴʥʦʩʪʴ, ʧʘʜʝʥʠʝʢʦʥʮʝʥʪʨʘʮʠʠʧʨʠ

ʜʣʠʪʝʣʴʥʦʤʭʨʘʥʝʥʠʠ

ɺʳʩʦʢʘʷʚʝʨʦʷʪʥʦʩʪʴʢʦʥʪʘʤʠʥʘʮʠʠʚ 

ʧʨʦʮʝʩʩʝʧʨʦʙʦʧʦʜʛʦʪʦʚʢʠ

ʆʛʨʘʥʠʯʝʥʠʝʧʦʜʣʠʥʝʧʨʦʜʫʢʪʘ



ʉʪʘʥʜʘʨʪʥʘʷʢʨʠʚʘʷ

ÅʂʦʥʮʝʥʪʨʘʮʠʷʦʙʨʘʟʮʘʚʳʯʠʩʣʷʝʪʩʷʠʩʭʦʜʷʠʟCq ʦʙʨʘʟʮʘʩ Cq

ʩʪʘʥʜʘʨʪʦʚʠʟʚʝʩʪʥʦʡʢʦʥʮʝʥʪʨʘʮʠʠ.
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ʕʬʬʝʢʪʠʚʥʦʩʪʴʇʎʈ

N = N0 x  2nE
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ʌʘʢʪʦʨʳ, ʚʣʠʷʶʱʠʝʥʘɻ ʬʬʝʢʪʠʚʥʦʩʪʴ

ʨʝʘʢʮʠʠ

Åɼʠʟʘʡʥʧʨʘʡʤʝʨʦʚ

Åɼʣʠʥʘʬʨʘʛʤʝʥʪʘ, ʩʦʜʝʨʞʘʥʠʝGC

Åʏʠʩʪʦʪʘʦʙʨʘʟʮʦʚ, ʧʨʠʩʫʪʩʪʚʠʝʠʥʛʠʙʠʪʦʨʦʚ

Åʂʦʤʧʦʥʝʥʪʳʇʎʈ ʨʝʘʢʮʠʠ

Åé
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ʆʩʦʙʝʥʥʦʩʪʠʜʠʟʘʡʥʘʧʨʘʡʤʝʨʦʚ

Åɼʣʠʥʘʧʨʘʡʤʝʨʦʚ18-24 ʥʫʢʣʝʦʪʠʜʘ

Åʊʝʤʧʝʨʘʪʫʨʘʦʪʞʠʛʘ(Ta) ʜʦʣʞʥʘʙʳʪʧɹʨʠʤʝʨʥʦ60-70Üʉ

ÅTa ʧʨʘʡʤʝʨʦʚʥʘʭʦʜʷʱʠʭʩʷʚ ʧʘʨʝʜʦʣʞʥʘʦʜʠʥʘʢʦʚʘ

Åʈʝʢʦʤʝʥʜʦʚʘʥʦ, ʯʪʦʙʳʪʝʤʧʝʨʘʪʫʨʘʧʣʘʚʣʝʥʠʷ5ô-ʢʦʥʮʝʚʦʡ ʯʘʩʪʠ

ʧʨʘʡʤʝʨʘʙʳʣʘʚʳʰʝʪʝʤʧʝʨʘʪʫʨʳʧʣʘʚʣʝʥʠʷ3ô-ʢʦʥʮʝʚʦʡ ʯʘʩʪʠ

ʧʨʘʡʤʝʨʘ



ʆʩʦʙʝʥʥʦʩʪʠʧʦʩʣʝʜʦʚʘʪʝʣʴʥʦʩʪʠ

ʧʨʘʡʤʝʨʦʚ

Åʇʦʩʣʝʜʦʚʘʪʝʣʴʥʦʩʪʴʧʨʘʡʤʝʨʘʥʝʜʦʣʞʥʘʩʦʜʝʨʞʘʪʴʧʦʚʪʦʨʦʚʠ 

ʧʨʦʪʷʞʝʥʥʳʭʫʯʘʩʪʢʦʚʠʟʦʜʥʦʛʦʪʠʧʘʥʫʢʣʝʦʪʠʜʦʚ

Åʇʦʩʣʝʜʦʚʘʪʝʣʴʥʦʩʪʴʜʦʣʞʥʘʚʢʣʶʯʘʪʴʙʦʣʴʰʝʧʠʨʠʤʠʜʠʥʦʚʯʝʤ

ʧʫʨʠʥʦʚ(ʧʫʨʠʥʳʧʨʠʩʠʥʪʝʟʝʧʨʘʡʤʝʨʘʜʘʶʪʭʫʜʰʝʝʢʘʯʝʩʪʚʦ

ʦʣʠʛʦʥʫʢʣʝʦʪʠʜʘ)

Åʏʝʪʳʨʝʠʣʠʙʦʣʝʝ3ô-ʢʦʥʮʝʚʳʭ  ʥʫʢʣʝʦʪʠʜʘʥʝʜʦʣʞʥʳʙʳʪʴ

ʢʦʤʧʣʝʤʝʥʪʘʨʥʳʩʘʤʦʤʫʧʨʘʡʤʝʨʫ, ʧʨʘʡʤʝʨʫʚ ʧʘʨʝ, ʟʦʥʜʫʜʣʷ

ʠʟʙʝʞʘʥʠʷʦʙʨʘʟʦʚʘʥʠʷʜʠʤʝʨʦʚʧʨʘʡʤʝʨʦʚ

Åʇʨʘʡʤʝʨʥʝʜʦʣʞʝʥʦʙʨʘʟʦʚʳʚʘʪʴʰʧʠʣʠʯʥʳʝʩʪʨʫʢʪʫʨʳ

Å3ô-ʨʝʛʠʦʥ  ʧʨʘʡʤʝʨʘʜʦʣʞʝʥʩʦʜʝʨʞʘʪʴçʨʝʜʢʫʶè 

ʧʦʩʣʝʜʦʚʘʪʝʣʴʥʦʩʪʴ



ʊʨʝʙʦʚʘʥʠʝʧʨʠʧʨʦʚʝʜʝʥʠʠ

ʢʦʣʠʯʝʩʪʚʝʥʥʦʛʦʘʥʘʣʠʟʘ

Eʩʪʘʥʜʘʨʪ=  Eʦʙʨʘʟʝʮ
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ɺʣʠʷʥʠʝʵʬʬʝʢʪʠʚʥʦʩʪʠʇʎʈ ʥʘ

ʠʥʪʝʨʧʨʝʪʘʮʠʶʜʘʥʥʳʭ

21

ʕʌʌɽʂʊʀɺʅʆʉʊʔ ʉʊɸʅɼɸʈʊʆɺ 

ɼʆʃɾʅɸ ʉʆɺʇɸɼɸʊʔ ʉ 

ʕʌʌɽʂʊʀɺʅʆʉʊʔʖ ʆɹʈɸɿʎʆɺ !!!



22



23



15 ʩʪʘʥʜʘʨʪʦʚ:

5 ʢʦʥʮʝʥʪʨʘʮʠʡʧʦ3 ʧʦʚʪʦʨʥʦʩʪʠ

24

ʏʝʤʙʦʣʴʰʝʧʦʚʪʦʨʥʦʩʪʝʡʠ ʨʘʟʚʝʜʝʥʠʡï

ʪʝʤʪʦʯʥʝʝʩʪʘʥʜʘʨʪʥʘʷʢʨʠʚʘʷ



ʂʣʶʯʝʚʳʝʦʩʦʙʝʥʥʦʩʪʠ:

Åɺʦʟʤʦʞʥʦʩʪʴʠʟʤʝʨʠʪʴʠʟʥʘʯʘʣʴʥʫʶʢʦʥʮʝʥʪʨʘʮʠʶʮʝʣʝʚʦʛʦ

ʫʯʘʩʪʢʘɼʅʂ ʚ ʠʩʩʣʝʜʫʝʤʦʡʧʨʦʙʝ.

Åɸʚʪʦʤʘʪʠʯʝʩʢʦʝʧʦʩʪʨʦʝʥʠʝʢʘʣʠʙʨʦʚʦʯʥʦʡʢʨʠʚʦʡ, ʫʯʝʪ

ʵʬʬʝʢʪʠʚʥʦʩʪʠʨʝʘʢʮʠʠʘʤʧʣʠʬʠʢʘʮʠʠ

ˍ̟̜̘̜̂̒̏̌̓̎̊̋̏̌̉̆̒̓̃̆̎̎̊́̎́̌̉̈

25

Åɼʣʢ̫ʘʣʠʙʨʦʚʢʠʤʝʪʦʜʘ

ʥʝʦʙʭʦʜʠʤʦʠʤʝʪʩɹʪʘʥʜʘʨʪʳ-

ʦʙʨʘʟʮʳʩ ʠʟʚʝʩʪʥʦʡ

ʢʦʥʮʝʥʪʨʘʮʠʝʡ.



ʂʘʯʝʩʪʚʝʥʥʳʡʘʥʘʣʠʟ(ʝʩʪʴ/ʥʝʪ)

ɸʙʩʦʣʶʪʥʳʡʢʦʣʠʯʝʩʪʚʝʥʥʳʡʘʥʘʣʠʟ(ʢʦʣ-ʚʦʢʦʧʠʡ)

ʆʪʥʦʩʠʪʝʣʴʥʳʡʢʦʣʠʯʝʩʪʚʝʥʥʳʡʘʥʘʣʠʟ
(ʘʥʘʣʠʟʵʢʩʧʨʝʩʩʠʠʛʝʥʦʚ)

ɻʝʥʦʪʠʧʠʨʦʚʘʥʠʝ(ʧʦʠʩʢʠʟʚʝʩʪʥʳʭʤʫʪʘʮʠʡ)

ʇʦʠʩʢʥʝʠʟʚʝʩʪʥʳʭʤʫʪʘʮʠʡ(HRM-ʘʥʘʣʠʟ)

ʆʙʣʘʩʪʠʧʨʠʤʝʥʝʥʠʷqPCR

26



ʆʪʥʦʩʠʪʝʣʴʥʳʡʢʦʣʠʯʝʩʪʚʝʥʥʳʡʘʥʘʣʠʟʘ

27

Å ʟʘʜʘʯʘ: ʦʮʝʥʠʪʴʫʨʦʚʝʥʴʵʢʩʧʨʝʩʩʠʠ

ʛʝʥʘ-ʤʠʰʝʥʠʚ ɻʢʩʧʝʨʠʤʝʥʪʘʣʴʥʦʡ

ʩʠʩʪʝʤʝ
Å ʥʝʦʙʭʦʜʠʤʦ: ʢʦʥʮʝʥʪʨʘʮʠʷʛʝʥʘ-ʤʠʰʝʥʠ

T = 1000 T = 100 T = 10
= 2 = 2                               = 0.2

R =  500                        R =  50                          R = 50

(ʛʝʥ-ʩʨʘʚʥʝʥʠʷ)

ʢʦʥʮʝʥʪʨʘʮʠʷʨʝʬʝʨʝʥʩʥʦʛʦ

ʛʝʥʘ

ʊʘʨʛʝʪʥʳʡʛʝʥ(T) ïʛʝʥ, ʫʨʦʚʝʥʴ

ʵʢʩʧʨʝʩʩʠʠʢʦʪʦʨʦʛʦʘʥʘʣʠʟʠʨʫʶʪ

ʈʝʬʝʨʝʥʩʥʳʡʛʝʥ( R ) ïʛʝʥ, ʫʨʦʚʝʥʴ

ʵʢʩʧʨʝʩʩʠʠʢʦʪʦʨʦʛʦʩʪʘʙʠʣʝʥʚ 

ʘʥʘʣʠʟʠʨʫʝʤʦʡʢʣʝʪʢʝ/ʪʢʘʥʠ

ʂʘʣʠʙʨʘʪʦʨïʣʶʙʦʡ

ʧʦʣʦʞʠʪʝʣʴʥʳʡʦʙʨʘʟʝʮ

(ʧʦʣʦʞʠʪʝʣʴʥʳʡʧʦ

ʪʘʨʛʝʪʥʦʤʫʠ ʨʝʬʝʨʝʥʩʥʦʤʫ

ʛʝʥʫ)

Åʥʝʧʦʜʚʝʨʛʘʚʰʘʷʩʷ

ʦʙʨʘʙʦʪʢʝʢʣʝʪʦʯʥʘʷʣʠʥʠʷ

Åʦʙʨʘʟʝʮʚ ʤʦʤʝʥʪt=0

Åʥʦʨʤʘʣʴʥʘʷʪʢʘʥʴ

normal = calibrator



ɸʥʘʣʠʟʵʢʩʧʨʝʩʩʠʠʛʝʥʦʚ

28

ʆʩʥʦʚʥʳʝʵʪʘʧʳɻʢʩʧʝʨʠʤʝʥʪʘʠ ʬʘʢʪʦʨʳ, ʚʣʠʷʶʱʠʝʥʘʘʥʘʣʠʟ

? ? ?

ʆʩʦʙʝʥʥʦʩʪʠ

ʧʨʠʙʦʨʘ, 

ʬʦʨʤʘʪʘʠ 

ʥʘʩʪʨʦʝʢ

ʜʝʪʝʢʮʠʠ, 

ʢʦʥʮʝʥʪʨʘʮʠʷ

ʢʨʘʩʠʪʝʣʷé

ʕʬʬʝʢʪʠʚʥʦʩʪʴ



ʈʝʬʝʨʝʥʩʥʳʝʛʝʥïrʢʦʥʪʨʦʣʴʧʨʦʮʝʩʩʘ

ʧʨʦʙʦʧʦʜʛʦʪʦʚʢʠ

Å ɻʝʥñrʜʦʤʘʰʥʝʛʦʭʦʟʷʡʩʪʚʘò (Housekeeping genes)

(ɻʝʥʜrʦʤʘʰʥʝʛʦʭʦʟʷʡʩʪʚʘʢʦʜʠʨʫʶʪʬʝʨʤʝʥʪʳʦʙʱʝʛʦ

ʤʝʪʘʙʦʣʠʟʤʘ)

Åʋʩʣʦʚʠʷ:

Vʵʢʩʧʨʝʩʩʠʷʵʪʠʭʛʝʥʦʚʥʝʟʘʚʠʩʠʪ(ʠʣʠʩʣʘʙʦʟʘʚʠʩʠʪ) ʦʪʫʩʣʦʚʠʡ

ʵʢʩʧʝʨʠʤʝʥʪʘʠ ʧʦʜʜʝʨʞʠʚʘʝʪʩʷʥʘʧʦʩʪʦʷʥʥʦʤʫʨʦʚʥʝ

Vʄʘʪʝʤʘʪʠʯʝʩʢʠʤʦʞʥʦʠʩʧʦʣʴʟʦʚʘʪʴʦʜʠʥʠʣʠʥʝʩʢʦʣʴʢʦ

ʨʝʬʝʨʝʥʩʥʳʭʛʝʥʦʚ

29



ɺʳʙʦʨʢʨʘʩʠʪʝʣʷ

30

ʀʥʪʝʨʢʘʣʠʨʫʶʱʠʡʢʨʘʩʠʪʝʣʴ ɻʠʜʨʦʣʠʟʥʳʝʟʦʥʜʳ
SYBR Green I

ʜʝʥʘʪʫʨʘʮʠʷʦʪʞʠʛʧʨʘʡʤʝʨʦʚʠ ʟʦʥʜʘʵʣʦʥʛʘʮʠʷ ʢʦʥʝʮ

ʵʣʦʛʘʮʠʠ

ʦʪʞʠʛʧʨʘʡʤʝʨʦʚʵʣʦʥʛʘʮʠʷ ʢʦʥʝʮ

ʵʣʦʛʘʮʠʠ



ɸʥʘʣʠʟʵʢʩʧʨʝʩʩʠʠʛʝʥʦʚ

13

ɺʳʙʦʨʬʦʨʤʘʪʘʜʝʪʝʢʮʠʠ



ɺʳʯʠʩʣʝʥʠʝʨʝʟʫʣʴʪʘʪʦʚ

32

!

ɿʥʘʯʝʥʠʷçRatioè ʩʨʘʚʥʠʤʳ

ʪʦʣʴʢʦʚʥʫʪʨʠʦʜʥʦʛʦʟʘʧʫʩʢʘ

ʧʨʠʙʦʨʘ! ɼʣʩ̫ʨʘʚʥʝʥʠʷ

ʨʝʟʫʣʴʪʘʪʦʚʤʝʞʜʫʥʝʩʢʦʣʴʢʠʤʠ

ʟʘʧʫʩʢʘʤʠ, ʧʨʠʩʤʝʥʝʧʨʠʙʦʨʘ, 

ʤʘʩʪʝʨ-ʤʠʢʩʘʠʣʠʧʨʘʡʤʝʨʦʚ

ʤʦʞʥʦʩʨʘʚʥʠʚʘʪʴʪʦʣʴʢʦ

çNormalized Ratioè ʧʨʠ

ʥʦʨʤʘʣʠʟʘʮʠʠʚ ʢʘʞʜʦʤ

ʟʘʧʫʩʢʝʥʘʦʜʠʥʠ ʪʦʪʞʝ

ʢʘʣʠʙʨʘʪʦʨ.



ʕʬʬʝʢʪʠʚʥʦʩʪʴʇʎʈ

ɽ=10 (- 1/slope)

33


